DIvISION WITH A REMAINDER II (H - SET 2)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—
121) 83857 + 10 = 186 55227 +6 =
122) 78285 + 8 = B0 8512+ 3 =
123) 34848 + 4 = 158 7889 + 3 =
120) 3148 = 1 = 139) 27313 - 8 =
125) 28631 = 7 = 140) 34236 + 6 =
126) 2025 = Q — 1) 4605 =1 =
127 36236 = 4 = 142) 60722 + 8 =
128) 35710 =5 = 143) 34264 =7 =
129) 60576 = 7 = 144) 22248 + 4 =
130) 6448 + 1 = 145 3698 + 9 =
131 h3472 + 8 = 16 8659 +4 =
132) 36084 = 5 = 1) 19910 - 6 =
133) 8312 +1 = 1s) 38748 =7 =
139 19151 = 2 = 149) 28547 =5 =
13) 21088 + 3 = 50 7927+ 1 =
Mathematics: Division - Level § - Horizontal - Set 2 6 culu
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